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v. ’„ÈU Áfl∑§⁄UáÊËÿ ¬˝‡Ÿ (‚„UË ©UûÊ⁄U ÁøÁã„UÃ ∑§⁄‘¥U) vÆ&v=vÆ

    Multiple Choice Questions M.C.Q. (Tick the Right an-

swer)

v. ß¸S≈U ßÁá«ÿÊ ∑§ê¬ŸË ÷Ê⁄UÃ ◊¥ ∑§’ •ÊÿË?

v. ‚Ÿ˜ v{ÆÆ w. ‚Ÿ˜ v{wÆ

x. ‚Ÿ˜ v}ÆÆ y. ‚Ÿ˜ v}vÆ

When did East India Company come in India ?

1. 1600 A.D. 2. 1620 A.D.

3. 1800 A.D. 4. 1810 A.D.

w. ⁄UÊŸË ‹ˇ◊Ë ’Êß¸ ∑§„UÊ¢ ∑§Ë ‡ÊÊ‚∑§ ÕË?

v. ÁºÀ‹Ë w. ◊⁄U∆U

x. ¤ÊÊ¢‚Ë y. ∑§ÊŸ¬È⁄U

Rani Lakshmi bai was the ruler of which province ?

1. Delhi 2. Meerut

3. Jhansi 4. Kanpur

x. ÷Ê⁄UÃ ¿UÙ«∏UÙ •ÊãºÙ‹Ÿ ∑§’ ‡ÊÈM§ „ÈU•Ê?

v. v~yy w. v~yv

x. v~yw y. v~yÆ
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When did Quit India Movement Start ?

1. 1944 2. 1941

3. 1942 4. 1940

y. “‚ÈŸ„U⁄UÊ ⁄‘U‡ÊÊ” ‚ •Á÷¬˝Êÿ „ÒU —

v. øÊÿ w. ∑§¬Ê‚

x. ¬≈U‚Ÿ y. ªãŸÊ

Golden Fiber refers to :

1. Tea 2. Cotton

3. Jute Sugar Cane

z. v~~~ ◊¥ Áfl‡fl ∑§Ë ¡Ÿ‚¢ÅÿÊ „UÙ ªß¸ —

v.  v •⁄U’ w. x •⁄U’

x. y •⁄U’ y. { •⁄U’

The world population became in 1999 :

1. 1 Billion 2. 3 Billion

3. 4 Billion 4. 6 Billion

{. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ-‚Ê ∑§Ê⁄U∑§ ◊ÎºÊ ÁŸ◊ÊáÊ¸ ∑§Ê Ÿ„UË¥ „ÒU?

v. ‚◊ÿ w. ◊ÎºÊ ∑§Ê ª∆UŸ

x. ¡Òfl ¬ºÊÕ¸

Which one of the following is not a factor of soil con-
servation ?

1. Time 2. Soil texture

3. Organic matter

|. ‹Ù∑§‚÷Ê ∑§ ‚ºSÿÙ¥ ∑§Ê ∑§Êÿ¸∑§Ê‹ Á∑§ÃŸÊ „UÙÃÊ „Ò-

v.  z fl·¸ w. { fl·¸

x. w fl·¸ y. y fl·¸
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Duration of Lok Sabha members is -

1. 5 years 2. 6 years

3. 2 years 4. 4 years

}. ÷Ù¬Ê‹ ªÒ‚ òÊÊ‚ºË „ÈUß¸ —

v. v~}x w. v~}w

x. v~}v y. v~}y

Bhopal Gas Tragedy took place in :

1. 1983 2. 1982

3. 1981 4. 1984

~. ÷Ê⁄UÃ ∑§Ê ‚¢ÁflœÊŸ ‹ÊªÍ „ÈU•Ê-

v. v~y| w. v~y}

x. v~zÆ v~zw

Indian Constitution implimented in the year.

1. 1947 2. 1948

3. 1950 4. 1952

vÆ. ÷Ê⁄UÃ ◊¥ ∑È§‹ Á∑§ÃŸ ⁄UÊíÿ „ÒU —

v. w{ w. w}

x. w| y. xÆ

w. Á⁄UÄÃ SÕÊŸ ÷⁄ — z&v=z

v. ’¢ªÊ‹ ¬⁄U •¢ª˝ïÊÙ¥ ∑§Ë ¡ËÃ .......... ∑§Ë ¡¢ª ‚ ‡ÊÈM§ „ÈUß¸–

The British conquest of Bengal began with the battle
of.........

w. •¢ª˝ïÊ ÷Ë«∏U ÷⁄‘U SÕÊŸÙ¥ ∑§Ù .......... ◊ÊŸÃ Õ–

The British saw over crowded spaces as .............

x. ............. ∑§Ù ∑§Ê‹Ê ‚ÙŸÊ ∑§„UÊ ¡ÊÃÊ „ÒU–
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............ is called black gold.

y. ¡Ÿ ‚ÈÁflœÊ∞¢ ............ ¬˝ºÊŸ ∑§⁄UÃË „ÒU–

Public facilities provide by .......... .

z. ÷Ê⁄UÃËÿ ‚¢ÁflœÊŸ ◊¥ ............ ◊ıÁ‹∑§ •Áœ∑§Ê⁄U Áº∞ ª∞ „Ò¥U–

There are ............ fundamental rights in Indian Con-
stitution.

x. ÁŸêŸ ¬˝‡ŸÙ¥ ∑§ ©UûÊ⁄U º¥ — vÆ&w=wÆ

    Answer the following questions :

v. Á‚¬ÊÁ„UÿÙ¥ ∑§Ù Ÿ∞ ∑§Ê⁄UÃÍ‚Ù¥ ‚ ÄÿÙ¥ ∞Ã⁄UÊ¡ ÕÊ?

What objections did the sepoys have to the new
certridges that they were asked to use ?

w. •ªÁ⁄UÿÊ ∑§ıŸ „UÙÃ „Ò¥U?

Who are the Agaria ?

x. ⁄ÒUÿÃ ŸË‹ ∑§Ë πÃË ‚ ÄÿÙ¥ ∑§Ã⁄UÊ ⁄U„U Õ?

Why were ryots relucant to grow indigo ?

y. ‚¢‚ÊœŸ ‚¢⁄UˇÊáÊ ÄÿÊ „ÒU?

What is resource conservation ?

z. ÷ÍÁ◊ ÁŸêŸË∑§⁄UáÊ ∑§ ºÙ ∑§Ê⁄UáÊ Á‹Áπ∞–

Write any two reaons for land degradation.

{. ∑Î§Á· ÄÿÊ „ÒU?

What is agriculture ?

|. ¡Ÿ‚ÈÁflœÊ•Ù¥ ‚ •Ê¬ ÄÿÊ ‚◊¤ÊÃ „Ò¥U?

What do you understand by public facilities ?

}. ‚Êfl¸ ÷ıÁ◊∑§ √ÿS∑§ ◊ÃÊÁœ∑§Ê⁄U Á∑§‚ ∑§„UÃ „Ò¥U?

Define universal adult franchise ?
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~. ‚◊ÊŸÃÊ ∑§ •Áœ∑§Ê⁄U ‚ •Ê¬ ÄÿÊ ‚◊¤ÊÃ „Ò¥U?

What do you mean by right to equality ?

vÆ. ÁflœÊÿ∑§ ∑§Ê øÈŸÊfl ∑Ò§‚ „UÙÃÊ „ÒU?

How the member of legislation is elected ?

y. ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÙ¥ ∑§ ©UûÊ⁄U ºËÁ¡∞ — {&x=v}

v. ÿÍ⁄UÙ¬Ëÿ √ÿÊ¬ÊÁ⁄U∑§ ∑§ê¬ÁŸÿÊ¢ ÷Ê⁄Ã ∑§Ë Ã⁄U»§ ÄÿÙ¥ •Ê∑§Á·¸Ã „UÙ ⁄U„UË ÕË?

What attracted European trading companies to In-
dia ?

w. Áfl⁄U‚Ê ∑§Ë ∑§À¬ŸÊ ◊¥ SfláÊ¸ ÿÈª Á∑§‚ Ã⁄U„U ∑§Ê ÕÊ?

What was Birsa’s vision of a Golden age ?

x. •ÊÁºflÊ‚Ë ‹ªÊÃÊ⁄U „UÊÁ‡ÊÿÙ¥ ¬⁄U ÄÿÙ¥ Áπ‚∑§Ã ¡Ê ⁄U„U „Ò¥U? ∑§Ê⁄UáÊ ’ÊÃß∞?

List two reasons why Adivasis are becoming increas-
ingly marginalised ?

y. ‹ÙªÙ¥ ∑§Ù ∞∑§ ‚¢‚ÊœŸ ÄÿÙ¥ ‚◊¤ÊÊ ¡ÊÃÊ „ÒU?

Why are people considered a resource ?

z. ¬Ò≈˛UÙÁ‹ÿ◊ ∑§Ù ∑§Ê‹Ê ‚ÙŸÊ ÄÿÙ¥ ∑§„UÊ ¡ÊÃÊ „ÒU?

Why Petrolium is called/referred to a “black gold” ?

{. ¡‹ ‚¢⁄UˇÊáÊ ∑§ ÃËŸ Ã⁄UË∑§ ’ÃÊß∞ ?

Suggest three ways to conserve water ?

z. ÁŸêŸ ¬˝‡ŸÙ¥ ◊¥ ‚ Á∑§ã„UË¥ ºÙ ∑§ ©UûÊ⁄U ºËÁ¡∞ — y&w=}

Write the answers of any two of the following :

v. ¡ê‚ Á◊‹ Ÿ ÷Ê⁄UÃËÿ ßÁÃ„UÊ‚ ∑§Ù Á¡‚ Ã⁄U„U ∑§Ê‹ πá«UÙ¥ ◊¥ ’Ê¢≈UÊ „ÒU,

©U‚◊¥ ÄÿÊ ‚◊SÿÊ∞¢ „ÒU?

What is the problem with the periodisation of Indian
history that James Mill Offers ?
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w. Áfl‡fl ◊¥ ¡Ÿ‚¢ÅÿÊ •àÿ¢Ã ÃËfl˝ÃÊ ‚ ’…∏U ⁄U„UË „ÒU, ÄÿÙ¥ ?

The world population has grown very rapidily, why ?

x. ∞‚Ê ÄÿÙ¥ „ÒU Á∑§ íÿÊºÊÃ⁄U ÁŸ¡Ë •S¬ÃÊ‹ •ı⁄U ÁŸ¡Ë S∑Í§‹ ∑§S’ ÿÊ
ª˝Ê◊ËáÊ ß‹Ê∑§Ù¥ ∑§ ’¡Ê∞ ’«∏U ‡Ê„U⁄UÙ¥ ◊¥ „UË „ÒU?

Why are most of the private hospitals and private
schools located in major cities and not in towns or
rural areas ?

{. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§ã„UË¥ ºÙ ¬˝‡ŸÙ¥ ∑§ ©UûÊ⁄U º¥ — y&w=}

   Write the answer of any two of the following :

v. SÕÊÿË ’ãºÙ’SÃ ∑§ ◊ÈÅÿ ¬„U‹È•Ù¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞–

Describe the main features of the permanent settle-
ment.

w. ‹«∏UÁ∑§ÿÙ¥ ∑§Ù S∑Í§‹ Ÿ ÷¡Ÿ ∑§ ¬Ë¿U ‹ÙªÙ¥ ∑§ ¬Ê‚ ∑§ıŸ ‚ ∑§Ê⁄UáÊ „UÙÃ
Õ?

What were the different reasons people had for not
sending girls to schools ?

x. ÁŸflÊ¸„U ∑Î§Á· •ı⁄U ª„UŸ ∑Î§Á· ◊¥ •ãÃ⁄U S¬c≈U ∑§ËÁ¡∞ —

Distinguish between subsistence farming and inten-
sive farming.

y. Áflº‡ÊË ∑§ê¬ÁŸÿÙ¥ ∑§Ù ÷Ê⁄UÃ ◊¥ •¬Ÿ ∑§Ê⁄UπÊŸ πÙ‹Ÿ ‚ ÄÿÊ »§Êÿº „ÒU?

What are the advantages to foreign companies in
setting up production in India?

|. ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÙ¥ ∑§ ©UûÊ⁄U ÁflSÃÊ⁄U¬Ífl¸∑§ º¥ — z&w=vÆ

    Answer the following questions in detail :

v. ¬„U‹ Áfl‡fl ÿÈh ‚ ÷Ê⁄UÃ ¬⁄U ∑§ıŸ ‚ •ÊÁÕ¸∑§ ¬˝÷Êfl ¬«∏U?

What economic impact did the First World War had
on India ?
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Or

’¢ªÊ‹ ∑§ ŸflÊ’Ù¥ •ı⁄U ß¸S≈U ßÁá«UÿÊ ∑§ê¬ŸË ∑§ ’Ëø Á∑§Ÿ ’ÊÃÙ¥ ¬⁄U

ÁflflÊº Õ?

What were the areas of conflict between the Bengal
Nawabs and the East India Company?

w. ‚⁄U∑§Ê⁄U Á∑§‚ÊŸÙ¥ ∑§Ù ∑Î§Á· ◊¥ Á∑§‚ ¬˝∑§Ê⁄U ◊ºº ∑§⁄UÃË „ÒU?

How does the government help farmers in develop-
ment of agriculture ?

Or

•Ê¬∑§Ù ∞‚Ê ÄÿÙ¥ ‹ªÃÊ „Ò¥U Á∑§ ºÈÁŸÿÊ ◊¥ ÁŸ¡Ë ¡‹Ê¬ÍÁÃ¸ ∑§ ©UºÊ„U⁄UáÊ

∑§◊ „Ò¥U?

Why do you think that there are few examples of pri-
vate water supply in the world ?

}. (∑§) ÁŸêŸÁ‹ÁπÃ ∑§Ù ÷Ê⁄UÃ ∑§ ⁄‘UπÊ ◊ÊŸÁøòÊ ◊¥ ÷Á⁄U∞ — v&x=x

v. üÊËŸª⁄U w.  ◊äÿ¬˝º‡Ê

x. Á‡Ê◊‹Ê

Locate the following in the outline map of India :

1. Sri Nagar 2.  Madhya Pradesh

3. Shimla

}. (π) Áfl‡fl ∑§ ◊ÊŸÁøòÊ ◊¥ ÷⁄‘U — v&x=x

v. ’¢ª‹Ê º‡Ê w.  üÊË ‹¢∑§Ê

x. •⁄U’ ‚Êª⁄U

Locate in the world map :

1. Bangla Desh 2. Sri Lanka

3. Arabian Sea


